Wind Monitor MA-
Wind Speed and
Direction Sensor

Replacement Parts
for
Model WS-05106

The Model WS-05106 series Wind Monitor is a
professional quality sensor suitable for a wide
range of wind measurements.

The Wind Monitor MA (Marine) is specifically
designed and manufactured for use in the
challenging marine environment

Materials used have been carefully selected to
maximise the accuracy and long life of the sensors.
The main housing, nose cone, propeller and other
internal parts are injection moulded U.V. stabilised
plastic. Precision stainless steel bearings are used
throughout. The bearings have light contacting
Teflon seals and are filled with a special waterproof
bearing grease. The Wind Monitor MA features a
fixed heavy-duty cable rather than the standard
junction box

WS-05162 - Complete nose cone and propeller
shaft assembly including O-ring

ORDERING INFORMATION:
Part Number Description

WS-05162 Nose Cone and Propeller shaft
assembly (complete). Comes with
flange bearings, nose cone, shaft,
6 pole magnet and shaft collar,
O-ring and propeller nut.

WS-08234 18cm x 30cm pitch black

polypropylene propeller.

WS-05167C Flanged propeller nut - included in
nose cone assembly but available as
a separate item if required.

WS-05161A 6 pole magnet and shaft collar -
included in nose cone assembly but
available as a separate item if
required.

Please contact your supplier for details of
other replacement parts as required.

WS-08234 - Propeller

WS05106S-1.0-1

AMALGAMATED INSTRUMENT CO PTY LTD

Unit 5, 28 Leighton Place Hornsby
NSW 2077 AUSTRALIA

Telephone:
Facsimile:

ACN: 001 589 439

+61 2 9476 2244
+61 2 9476 2902

e-mail: sales@aicpl.com.au
Internet: www.aicpl.com.au



MODEL 05106 WIND MONITOR—MA
MARINE MODEL

08234 PROPELLER 18 cm DIA x 30 cm PITCH
POLYPROPYLENE

05163PW FLANGE BEARING (2 REQD)

05160C NOSE CONE ASSY
/— 05158 NOSE CONE l

05154 HOUSING ASSY

6—32 x 3/8 PAN HEAD SCREW (4 REQD)

/OSWSSA POTENTIOMETER COUPLING
05139 POTENTIOMETER
/ADJUST THUMBWHEEL

051300 TRANSDUCER ASSEMBLY

e

—— 05145C POTENTIOMETER MOUNTING
& COIL ASSY

— 05133B POTENTIOMETER 10K
1/4% LIN, CONDUCTIVE PLASTIC

05167D PROPELLER
NUT (FLANGED)

05164C PROPELLER SHAFT
W/HUB

05165B FRONT BEARING CAP

—— 05135D POTENTIOMETER SHAFT
EXTENSION (WITH O—RING)

05161A 6 POLE MAGNET &
SHAFT COLLAR

6—32 x 1/8 SET SCREW
(6 REQD)

05127 MAIN HOUSING LATCH —
6—32 x 3/8 FLAT HD SCREW \ I

/
05136 VERTICAL SHAFT

BEARING ROTOR—MA

+—— 051310 POTENTIOMETER HOUSING

05124VG VERTICAL SHAFT
BEARING (2 REQD)

8-32 x 5/16 PAN HD SCRE
05123A—01 MOUNTING
" POST AssY

05129 BAND CLAMP (2 REQD)

#6 x 3/8 SCREW SELF—TAP
(6 REQD) \

05123A—03 CABLE 1m (3.3 FT)
WITH STRAIN RELIEF ASSY

|

\ 05128B ORIENTATION RING

MODEL 05106 WIND MONITOR—MA DWG B PRD 01-94
MARINE MODEL DWN JMT|DWG 10-01
GENERAL ASSY & REPLACEMENT PARTS CHK'E.::.._ E05106

R.M. YOUNG CO. TRAVERSE CITY, Ml 49686 U.S.A. 231—946—-3980




	available1:                                                                                                                                                                                                         ACN: 001 589 439
	Company1: AMALGAMATED INSTRUMENT CO PTY LTD
	address1: Unit 5, 28 Leighton Place  Hornsby                 Telephone:
NSW     2077   AUSTRALIA                              Facsimile:
	phonefaxetc1: +61 2 9476 2244                 e-mail: sales@aicpl.com.au
+61 2 9476 2902                 Internet:  www.aicpl.com.au
	update: 


